Geometry Name K&J\‘ |
Review 10.1-10.3

Use this figure to answer 1.
questions #1-7.

/\/\/\/\/—\ }
List all the radii shown in the figure, \
CA CR CE HF BG

2. iameters are shown?’

3. WhatsThe best name for £F? Comman Tanged s
: |

4. What is the best name for G?@%

B. Name a chord that is not a diamefer@
e~

6. Name a secant.\_ BD

lirve
7. Explain the difference between @qnd a
/_____/--\/‘v\ . —_— ‘
SegwvEhord. §Give an example. 2D isachsven, BD \5Q et
8. Draw a diameter and 9. Draw a secant and 10. Draw a chord and
label it ABR. label it €D. label it EF .

Is the chordyou drew a
diameterd No
11. Incircle C A is a point of tangency. Find DB. |
z
28 4= CR Be=g

- L
A e = CB RBRL - <D= DR
25 = CR* 5 — 3 = DR

f5=C’B o= DR

12. If chord 1 bisects chord 2 is chord 1 a diég':;leiz\r)? If your answer is no, what would make it
O

a digmeter? icture to demonstrate. Crordt Qreid ™
Hhe e sy be . J,
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13. Use the given circle and list all of the measures of all of the minor arcs.

Are you sure you found them all?
~~ o
" T = Uzt M ol = 138

Q
P
m P = (i ™M ‘ar= IS Q
WY AS = u® M S = vRa®
' s Pt
' SR o= 27 "R =

s
14. Name one major arc and give its measure\ Y™ @ = Z'EL’Z,o)

15. In the diagram beiow,ZE is a diameter of @ Oand is perpendicular to AB. If
AB=12 and CE = 2, what is the radius of ® O?

VR = ()" ON = XX
Vo4 B = 5 by Y = 3¥e
22 = Ux

16. What conclusion can you

17. What conclusion can you | 18. What conclusion can you

make about arc BC?

make about arc BC?
A1 = 218

make about QS ?

19. Ts there enough information to show

%)

an you conclude that arc BC is congruent

that the chords;*e\eg&dis’ran‘r from the to arc AC? Explain,

_— center? Explain. U(}uo\ .
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Use the given pictures to find the requested information.

21. Find the measure of arc BC.

' 5= 127

22. Find YQ.

23. Find x.
Zyrd = uo

A= o
~.a 712

24. Find x.

25, CE=2and PD=5. Find AB.

heg=5 G

26. Find x.

Vi 2= oy

Y = ><2{+ Led el
BDO= 1ex

v




